TRIG 2.3 ~ Solving Trigonometric Equations

You will learn techniques for solving equations involving
trigonometric functions.



Review of inverse functions:
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Solving a trigonometric equation

Use algebra combined with the inverse trig functions.

a) 3cot’x = (‘:"@
Cotl><=--é-
(otX = % ==
Solutions on [0,211) All solutions:
[oom) o X=% %, 09 | X=3+kr
} K= 2/_%'+K7T
b) 2sin2x=-+3
Sinax. - vz
oy
D\X S—IT or
3 rd
_ 2X=
A= LT et Fhakn
X=zm > n
=3 kn <
X = ik Y anster:
o E@Z")
Cc) sec (x/2) = -2
Cos>__§ = _%_ —
X n
2 = g:T takTr k
X_ 4m
2~ 3 n _1 K l\’-



Some algebra may be required.
You may need to multiply or factor...

a) Solve for x on the interval [0,21T)
sinxcos x-cosx=0
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You may need to put the expression in terms of the same function
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b) Solve for x on the interval [0,21T)
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Using inverse trig functions to state a solution.
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State the solutions to this equation:
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Common error
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Siax cosx = Sink
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SiaX (Cusx-1)= ()



